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Note: -You have four choices for each objective type question as A, B, G and D. The cholce which you think is correct; fill that circle in front of that

question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

SECTION-A Ui.»

Q.1 Questions /.=l A 8 ¢ D
i 7
Pl
L 20 35% 35 20 20%
— in terms of percentage is:
20
2. P oli§ 75:95 15:17 15:19 19:15 17:15
Lowest form of 75:95 is:
| DRSS 2 FEetb e Euslon
31lona crop produced on natural resources, Usher is 2.5% 5% 10% 20%
deducted at a rate of:
4, - 8#8:144-5,/100,000 | R 2500 Rs.25000 Rs.2000 Rs.15000
Zakat on an amount of Rs. 100,000 is:
5. ,4,%![(}'&,(5' ci))o‘.?:y‘o"} &))»’;f‘f&gi&"} &;}a§>4/'¢>"3 (Jﬂ;lﬁ(}flﬂc’l
Profit is eared when: SP=CP SP<CP SP>CP none of these
6. :ﬁq,b'yruuij &;)..'u/}:,gi'é-g &J)a/E:&/?(yu/,% &)}Og>4i¢2 s;i':/'av‘3<4/'of§
Loss is there when: SP=CP SP=MP SP>CP SpP<CpP
LA il Gt MBI 204, P IS o £ B SIS
7. | An instrument for payment order issued by a bank on - == o e
the request of its customer is called: Pay order Cheque Bank draft Bilt of exchange
8 40 e A2l | e § i L8
(T;gﬁe%e.rson or entity whose insurance is being done is o Lessoa Bawr sursd
(J"’JU“"L){;'(Sn/,})u"a)'{@fﬁfél/,d.b'ublg(p&yfiJgu
" A adeicny| Lo | Ma | S
The tax which is charged on income, property and Tax Direct tax Property tax income tax
profits in the form of income tax, property tax and
profits etc. is called:
_uzz;f ¢fl+bﬂ,fugzc),4,,iuv4/;{u. /v’ Mu” é S ¢ u’é ré' Ja Y
10. | 1he form of tax which a buyer pays on a manufactured Ex = d* ‘Tf I t Salest
item at the time of purchase is called: ] a e sl
11. _Uié{f%/? u;a% Y s uag
%/7 is called: Rational number Radicand Radical Integer
12‘ —4—‘-’9’{.’(5 aj u: 2,6,1 1,17, ..... 24 30 21 22
For 2,6,11,17,..... a5 is:
ANB=73Unsr B A
13.14f 4and B are two non-empty overlapping sets, ® B4 ANB Bud
then ANB ="
14. Vu{i%!{wb,«!é;ly (1)1) (0’1) (0’ 0) (]’0)
The co-ordinates of origin are:
B Bl ob pol il sty
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Marks : 60 Subjective (I " Col- 60: A
Note:~ Section B is compulsory. Attempt any three (3) questions from Section C. B eyz Ly f eSS by wo-gUens it
| | SECTION-B (».¢
2. Wite short answers to any six parts. (6x2=12) jé; Felg v L,mlz,caf 2
i. Define Ratio and give an examnple. -ﬁ';dl‘#v{luléqﬁéw A
ii. Express the given ratio into simplest form. %%6 ,”auﬁg}&dbff:».)(fd) i
ii. Define Inversé Proportion. ' -éojﬂ&/ﬁ’gﬁ i
iv. Calculate Zakat on silver amounting to Rs.300,000. -af-f(}”:sf J4UI 514-2/300,000 LB /1 v
v. Calculate Usher on a rice crop amounting to Rs.490,000 9 514-/490,000 ».:«.JLJ) &J;gu’ 8JSveluss A v
produced by artificial resources. ,Zé(}" /?
vi. Find the SP when CP=Rs.126000, Loss=5%. 5%l & 126000= St f P s pet i

vii. The selling price of 12 articles is equal to the cost of ,éé(f'u:;ég,q,xuigfa".cj,l‘?l 15 &:}a&’é;!}l 12 i
15 articles. Find profit percentage.

vili. Find the marked price, when SP=Rs.515.20, Discount=8%.  8%=Ls% & §15.20=cb1 fe b o oV Aubln il

ix. Convert 250 US dollars to Sterling Pound. ,?_édiidf»_& }/,‘cjkf})liudlzZSO Jix
Pound sterling rate (Selling) = Rs. 129.7968 &-1,129.7968 = (aﬁ:})a;b’ué/"ﬁjk
Rate of US$ (buying) = Rs. 83.800 &5, 83.800 = (/) 2e WMLl

3. Write short answers to any six parts. (6x2=12) -é; s F L,mu,:,(}f .3

i Convert 5000 Saudi Riyals into Pak rupges.  _s1¥d-» 22.3449 ot L1 Lo L5000 i
If one Saudi Riyal= Rs.22.3449

ii. Define Indirect Tax. ,éd,ﬁdug,b/l)l, i

lii. . If the total income of a person is Rs.625,000 with exemption T ,J.Cmarwzs,ooo ('}yT;IJl/J Ju‘; u,(lfl i
of amount Rs.150,000, then find the taxable amount. -é(?’&pﬂfg !Ji(?? » &-1/150,000

iv. Simplify. 2ab% x34% b* -4’5/"; Jiv
v. Write 0.00000075 in scientific notation. ) -Z’f u?-(g 70;‘ .5 0.00000075 v

vi. Show that 3log2+log5=1log40 . 3log2 +log5 =1log40 SE b i
 vii. Find the specified term of A.P. —4,-7,-10,....,019 ,zé,»)”ﬂ,#'&i’@" il

- viii.  1f3 and 6 are two A.Ms between a and b, find a and b. _Zéri” basla ;u:fbf:di'» 6,3 cJL/»Lb Sa A i
ix. Find the G.M between 3 and 27. ,zé(}”mg} Sl nd 2T 913 X
4. Write short answers to any six parts. (6x2=12) -4’554 g V4 L;IZ!{:LG/ 4

i. Define a Set and give an example. ,é,deJ;léqidw i

ii. Find AUB if: A={a,b,c}, B={a,e,iou} fléé()”AuB Rii
iii. Find CxD if c={p.gr}, D={2.3} Side# CcxD i
iv. Represent the point on graph paper. B(3,2) ,éﬁiﬁl}'/,/ﬁ&l/éfﬁdibu v

v. Convert 127°F into °C _c”i‘:d.guf- °CF127°F v
vi. Define and draw the Co-ordinate axes. -gi—luf’ u!ééce,' /7 (5»‘ &8 Vi
vii. Define Mode and give an example. -Zf)d&wlééqﬂéub Wil
viii. Find the geometric mean for given data. v 2.,*4, 8;?‘ 7 d;“ mre ¥ W%ﬁf’ 1«:'6_ /I!:lfd.i&w Vi
ix. Find the range for given data. ; ;10;1_?,1‘:%12 4o g | ; i ; - ,%(}” e Wil Litn X

- f’li*i’ " g‘; : Turn over &g




5.(a)
(b)
6.(a)

(b)

7.(a)

(b)

8.(a)

(b)
9.(a)

(b)

)
SECTION-C /r.»
SAnL-6)- 22 (“+4=8) WALy g clnLctiref e 3F

Attempt any three questions. Each question carries Eight marks. (4+4=8)

vir,wr;{wwnzéwduwm wa,n,u.:reoou‘u/,gx,u/zou'd/’v( (a).5

A factory makes 600 suits in 9 days with the help of 20 machines. How many suits can be made in 12 days

with the help of 18 machines?

A person left a property of worth Rs.24,00,000. Calculate the u:u’l461‘;{)14;@6921,-4',;124,00,000 LUl )
amount of share of his wife, a son and a daughter. _c’if(-}” ,;eb’df_{mfé;u{m,gé’ le
Distribute Rs.720 as profit amongst three people,  _#3:45 AP LS1E P 18E 0t PR F e
so that their shares are in the ratio 3:4:5. . . v _

Find the compound profit on Rs.54,000 for one year -ér}” C"/b«i'i'l(fc,c S oWl12% 2, dl/v,(ldr;/M,OOO (b)

at12% per annum.
z{r?’f sl 216% 4L /cu"ui»u{_g;A—»ZO 00,000 13/&-1,15,00,0000% #L3 T ,uua,u“ O Sl (a).7

The annual price of a house and price of land is Rs. 15 ,00,000 and Rs.20,00,000 respectively.

Find the property tax on each of these two at the rate of 16%.

‘ 6 ;
Simplify. N (a2b3) EF @)
The A.M. between two numbers is 5 and their positive _ér)” swl_cds50 /:w?’b’UIﬁ,q,Sk;(};' Ertulss  (a).8

G.M. is 4. Find the numbers.

(AUB) = A€ N B e ej B={2,3,57,9} 4 4={2,3,4,6,8,9,10} .U = {1.2,3,4,5,6,7,8,9,10,1,12} /1 (p)

It U={1,2,3,4,5,6,7,8,9,10,11,12}, 4={2,3,4,6,8,9,10}and B ={2,3,5,7,9} then prove that (AUB) = 4° A BC

Sketch the graph of y =4x+1 , _Z::;a!/b’y =4x+1 (a).9
For the data 3,5,6,8,8,9,10 find mean, median and mode. -c”-;('(:"’ub sl b boslf 3,5,6,8,8,9,10 s (b)

11-122-A-6200
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Note: -You have four choices for each objective type question as A, B, C and D. The cholce which you think Is

correct; fili that circle in front of that

question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more cirzles will result.no mark.

SECTION-A (Jji_» % o i
( — - T = L
) Q.1 ' Questions /iy A J B 1 C D
! | St - - :
| ‘ < 2 i ' | A [ 2§ A (. S
; ; S _,J'.:_,f_‘ > é/:;/'fﬁff'f,'w»‘:'d d x 100 ! 6 ! &7 C/‘f X O./DC; R "/3 x 100
" 1. ‘{ oF e ‘; 2f b i 100 100 + % &
-ofi ] P x t %
’ Find the profit %, vii.ere SP > GP. EE o profit ! CPXprofit%|  spx 100
J cP 1 cP j 400 100 + Profit%
‘ _r s T ; [ ; - e
I S e b Sdnf G s s b ,‘ Ny T
‘ £ j The amount which “z paid by bank on the deposits Bonus ( Profit Premium Mark up
{ i is called: [ '
" - 1
N i L/”L—' e d‘/'U < r’ f/U J_C ' Lfg}: ! Uf}{ d,{;/‘(/{'
The tax in addition to the price of the article is called: Tax ] Sales tax ‘ Income tax Excise duty
_« ) ] A f i ! 3 ”
| 4, _ctﬂfc.,( L-L&‘J/(}ufu}(](-/uufc J L,rg}f ! J—O;/t,,u } AL Jg‘}y
’ The tax charge on ail taxable income is called: { Salestax "~ | Direct tax | Excise duty Income tax
o L KR!
A =270 A={a U={1,23,4 /i / i
£ A ={a) wU={1,23,4) @ n {1,2,3) {2,3,4)
WU ={1.2.3,4}, 4={4)} then 4'=?
5 ?4’,,),1,)_/\/5 w(yﬁ mg‘ debﬂ}‘ U'Gli
. | B is Rational number Aninteger irrational number.| Natural number .
I .
7. , -w-/ d/(jﬂ"-—"l‘f'.) 3 g -\Q § ‘
} The third term of 7, =1+ 3 is: ,w "
] . B e
a V=N L2+ y =6 i " i .
For v=1in 2x+ v =6 we have »=n
ou»C_ VEH = ol bool L’Jl(‘}(/" L/:l;l:/f/[
——
z{—-
g X
H=al © My Mode Mean Arithmetic mean Harmo_n@c_mear]_,".
.w( N ) A
2
| ‘_J I
i f 2 g .z |
‘,*'J(/»‘")d = ! I
10. - 3% 1% 33% 335%
K Inthe terms of percentage is: f
3 h
I oy SO J)DJ')/?L,'C:U_;L-JMA(.:: I ; 1.».
10 1 The share of wdovv in inherited property (in the 1 ‘8‘ 5 2., a1efe
presence ofchildren‘i i3 )
0o < K578 10% . 7 10 A 7
- Fraction formof 70%a is: 10 7 100
13 :/—/‘!(’_Irl,htﬂfl.d’ ~,.»x,)'c//_sz;//h/ CEYP W LSy W =S jels fed ehrjel eyl
. SP=CP sP<cp SP>CP sp<cP
14 R ALATE 2.5% 3.5% 4.5% 5.5%
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SECTION-B ;s | |
(6x2=12)

i The price of 15 suits is Rs.6750. How many such suits

2. Write short answars to any six parts.

&, Pl AL nze 37 2
U U§,4050 116750 ASUsrsL st fi

can be purchased by an amount of Rs.4050.

7
70
iii.  There are 1029 students in g school, 504 out of them are girls,

[« R R¥

ii. Expressthe given ratio into simplest form.

—

what Is the ratio of boys to the numbers of girls?

iv. Calculate Zakat on silver amounting to Rs.300,000.

' tbe yie iz

e Pl dSs,

AUFIAUEY504 el ab1020 LR

E WSS

-éff’:f 54U 142,300,000 = L(S 4L

R\
V. Calculate the amount of Zakat on an amount of Rs.500,000. _25(;“’77)4{}/6;{'..;1 500;600 v
vi.  Distribute Rs.200,000 as a profit regarding three _13:2:5 Juiu:*féurﬁzifﬂftfzfjlzoo,ooo VSBIE v
persons, if their shares are in the ratio 3:2:5.
vii.  Find the marked price when SP=Rs.858, Discount=12%. 12%=Ls? &3y 858:&;)92.@25(:"’@2.}61;‘ i
vili.  The selling price of 12 articles is squal to the cost ,é’f{-}”u:)éd;_q_/.u[__/;/&é&l_)i 15 &:}c/é(j.[_}l 12 Lviii
price of 15 articles. Find profit percentage.
ix. Convert the 500,000 PK. Rupee to Euro. Rate of & ¢-3,112.4088 q;k;;g;ézé'(l,_:ut,,g /{—usoo.oooéﬂg .ix
Euro Is Rs.112.4088, :
3. Write short answers to any six parts. (6x2=12) -éé(/ol,lﬂ/'fé_,lzll,g.af 23
i.  Whatis meant by saving account? v‘@/,y’z,wwjfz i
ii.  What s meant by direct tax? Yq,ﬂ/y’(—u'gc/b,u i
fii. The annual income of a flatis Rs.14,00,000. 20 Zluice ¢ 2Suut16% -4-4-314,00,000 ST 0LELIL i
Find tax at the rate of 16%.
iv. - Express in exponential form, m . ‘{diwg}od Ved v
v. Solve, (32)5."' [93X27_l] ,éd’ v
vi.  Write 90.85 in sclentific notation. -zfutﬁhr"w’go-.ss v
vii.  Write first three terms. a, =3n+5 -EO(LU_’-UI- vii
viii,  Find g, if Gypq=2n-12 S a, i
ix. Find arithmetic mean between 4 and 8. ,Zi:(;"’lv;u’;'u_(/ué. 8.1 4 ix
4.  Write short answers to any six parts, (6x§=12) ,Zég/otlz}yi,lzu;c,(}f A
i. Whatis meant by intersection of sets? Sesly L)’c_dﬁéu:’i’ A
i, Find ANB it A={23,57.11), B={1,3,5.7,9) S AN i
iil.  Write two binary relations in Ax B if: A={3,56}, B={13) S w8t AxB i
iv.  Represent 4(2,-4)on the graph. _éﬁ(ﬁz,&l/f/f(z,—@ Jiv
-v. Write down the coordinates of origin. ’ -éol:fié;ly RY
vi. Convert 95°F into "C. _é(lgui °Cf95 °F
vii. Define Frequency. _4‘.0;4,-76;»7 il
vill.  Find the median for the data set: 5.4,5,4,3,4,2,6 LE P ksr Loy i
ix.  Find geometric mean of 2,4 and 8. -é(}"k;l(,}/b’-a 2 42 ix

(Turn Over i)




5.(a)

(b)

6.(a)

(b)

7.(a)

)]

8.(a)

(p)

9.(a)

(o)

SECf!ON—C C'f.'/
S‘DL’QZ’» ' (4+4=8)

Attempt any three questions. Each question carries Eight marks. (4+4=8)

ALy p s 22 Lotird e dF

g LS inS 4420 284% s o/l (a
If 84% of a book consists of 420 pages, find total number of pages in the book.

1/ ¥a08 295024 G 2oy 3.8, T/ F40000 i, S8 8udis/t (o
if wheat crop is produced 40000 kg by natural resources, calculate the amount of Usher. If price of wheat is
Rs.950 per 40 kg.

Wl lre e O A LS P U §2:37 € 41672000 W1 Lppdl (3
Three members of a firm distribute the profit Rs.67,200 among themselves in the ratio 2:3:7. What is the
biggest share of the profit?
8 4TI G 04T 2 LT 411200 gbe b LU P 2IV6% &-800 s L Liak (!
Javid invests in saving scheme Rs.800 at 6% per annum and Rs.1200 at 7% per annum. What is the total
amount of profit on these two investments?
_;»fr)’”gg',x“z:,uuc,c/‘d 4.5% 40w TEU9. - &-2,310,000 1414-2:250,000 ,J;@&de&fdumb, (a
The total taxable income of two persons is Rs.250,000 and Rs.310,000 respectively, work out the income tax
for each of them @ 4.5%.
I
[ Rt . - 2
I f/:—T*Q-',(heﬂf‘lﬂd H ,when: ’ R=6,7,[:l,3'1:25 'pé(?’}’{jﬂl‘l “—‘-1—4—]—;’,*/' (b:
Find three A.Ms between J2 and 62 . -Zé(}’/b/,'dzd:-d(‘/u./_—ﬁ ;;16\/5 (a.
(AuUB) =4 B SEoin B={1,3,678) #4={23,69} U= {1,2,3,4,5,6,7,8,9) /i (0}
U ={1,2,3,4,5,6,7,8,9}, 4 = {2,3,6,9} and B= {1,3,6,7,8} then pi«.ve thal (AuB)C = AN B
Draw the graph of y =3x+5 _Zg;)l/l(y =3x+5 (a
Find the standard deviation of the vulues 2,3,6,8,11 _Zér}"..‘:lfldly‘fb’ 2,3,6,8,11 (b)
12-122-A-76
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